KING FAHD UNIVERSITY OF PETROLEUM & MINERALS

Information and Computer Science Department

ICS202: Data Structures

 HOMEWORK 3 (Term 082)

Due Date: Sunday, May 10th, 2009 at Midnight
QUESTION#1 [50 points]

One of the important issues in operating systems is that of scheduling jobs on a CPU. Assume that we have a single-processor machine. You are to build a program that schedules simulated CPU jobs. Your program should run in a loop, each iteration of which corresponds to a time slice for the CPU. Each job has an ID, which is a 8-character string, and is assigned a priority, which is an integer between 1 (highest priority) and 100 (lowest priority), inclusive. From among all jobs waiting to be processed in a time slice, the CPU must work on a job with highest priority. In this simulation, each job will also come with a length value, which is an integer between 1 and 100, inclusive, indicating the number of time slices that are needed to process this job. For simplicity, you may assume jobs cannot be interrupted—once it is scheduled on the CPU, a job runs for a number of time slices equal to its length (This CPU scheduling scheme is called non-preemptive). Your simulator must output the name of the job running on the CPU in each time slice and must process a sequence of commands, one per time slice, each of which is of the form "add job ID with length n and priority p" or "no new job this slice". Your program needs to do the following:
1. Reads a text file named cpu_jobs.txt that contains a sequence of commands to process. This text file is read via an argument that will be supplied to your java program when running it (for example, on a command line, you will enter "java testCPU cpu_jobs.txt" where testCPU is the Java test program).
2. Your program will output, for each time slice, the ID, priority, and time left for the process to finish in one line, and the second line will contain the command being processed at this time slice.

3. After executing all processes, your program shall print, for each process, the waiting time it took before using the CPU. At the end, it will print the average wait time for all processes. If no process was included in this session, your program shall print the message "CPU Idle in this session".
Using the implementation above, test your program for the following cases:
a) Use the length of the job, n, as its priority.

b) Use the value 101 - n  as the job priority, where n is the length of the job.
c) Use an equal priority for all the jobs. In this case, they must be scheduled on a first-come first-serve basis. Note that this will, also, hold for all jobs with equal priorities in parts a) and b).
Compare and contrast the three schemes by stating which scheme is better to use and why.

QUESTION#2 [25 points]
(a) (6 points) Given the following General tree, T:


[image: image1] 
i. (3 points) Show the result of the preorder depth first traversal of T.
ii. (3 points) Show the result of the postorder depth first traversal of T. 
(b) (4 points) The breadth-first traversal of a full Binary Search tree gives its keys in the following order: 8, 6, 30, 15, 40, 10, 18, 16, 23, 20, 25. Draw the tree. 

(c) (15 points) An Airlines wants to give a first-class upgrade coupon to their top log n frequent flyers, based on the number of miles accumulated, where n is the total number of the airlines' frequent flyers. The algorithm they currently use, which runs in O(nlogn) time, sorts the flyers by the number of miles flown and then scans the sorted list to pick the top log n flyers. Describe an algorithm that identifies the top log n flyers in O(n) time. You only need to provide the pseudo code of the algorithm. No implementation is necessary.
QUESTION#3 [25 points] 
(a) (10 points) Consider an empty AVL tree. Insert the following nodes into the AVL tree: 8, 6, 30, 15, 40, 10, 18, 16, 23, 20, 25. Make sure you show the intermediate results and mention all the rotations involved.
(b) (4 points) Remove the key 16 from the AVL tree below. Make sure you show the intermediate results and mention all the rotations involved.

[image: image2]
(c) (11 points) Consider the following AVL tree:
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Note: Each of the following questions is to be answered using the original AVL tree given above

i. (3 points) What is the maximum integer key that when inserted will cause a single right rotation?

ii. (3 points)What is the minimum integer key that when inserted will cause a double left-right rotation?

iii. (5 points) Mention two integer keys that when inserted one after the other will cause a double right-left rotation. Note: The first key inserted must not cause any rotation.
Submission Instructions:

1. For Question 1, make sure you follow the homework template under the downloadable files on WebCT as follows:
i. Design: Make sure you include details of the data structure used and explain your design choices.
ii. Solution: For this section, do the following: 
i. Include 3 sample runs of your program showing that it works for each case (a, b and c mentioned in the question)
ii. Include your writeup on your answer regarding the comparison of the three schemes.
iii. Include the code implemented (and/or reused). You can only reuse classes and implementations developed in this course.

2. For the rest of the questions, just include your answer (no need for Design).

3. The electronic submission should contain your code and any packages needed to run the code, in addition to the homework report that contains the solution to all questions of the homework.

4. The electronic soft copy of the homework is due by Midnight Sunday, May 10th, 2009. The hard copy is due in class on Monday May 11th 2009. Note that if there are any discrepancies (differences) between the soft copy and the hard copy, the soft copy will be considered.
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